CT diall 2023

E-BOOK- PDF

GEID A

FULL TEST- 5‘-'.1}'-_3\

EXPLANATION

6,200 & Q¢ oda 99

Click Here

& Tech of World M Q

HOME VIDEOS

2li¥l Channel 6Q 6@¢lg Video

PLAYLISTS COMMUNITY

Ggelca’im CT 3 B.Ed
6%8I6aida SSC GD

TOW

Tech of World
SUBSCRIBE

315K subscribers + 928 videos
Hello QIc? F16Q 11 2061 9@ Channel 68 99 9910Q Educational Video
Free 60 606/0IR6R 604 6961R@A @AE 98 "Tech Of World" Channel § ...

+2 @9l +3 9@ U6
600 F64 am ;

P &
CT 3 B.Ed 96Q @€l "=

How To Become A Teacher After +2 Or +3 In
Tow  Qdisha ? How To Get A Teacher Job In Odisha ?
Tech of World - 176K views - 3 years ago

=0
(] s @ & &
Subscriptions Library

Home Shorts
Click Here

Join Us-

Download Tech Of World A

a

<« Q

OO Tech Of World- (Odisha
Exam CT

Tech Of World

Uninstall

Your Review

sujit kumar naik
| kkkkk 6/29/21

Edit your review

Developer contact v

About this app >

Tech Of World (Odisha Exam) Provides Mock Test &
E-Books For Different Exams

Education
3.8% 50K-
422 reviews © 422 reviews Rated for 3+ ® Downlo
Mock Test

FrECH OF WORL L

SAIRIRAGR 62 Mock Test

Click Here

WtsApp/Call- 8596976190

3&6l CT < @d g4l

Click Here

< Tech Of World
TOW il

Q9 ¢Q

4.1K subscribers

D Leave a comment

ASO Englsih 2022
By...

ASO General
Knowledge 2022...

ASO Math 2022 By
Techofworld.In.pdf

ASO Odia Languge
2022 By...

ASO Reasoning
2022 By...

£S5

0 3 comments > a4
i\ A~ 2 )
&) il <2/ g/

Click Here



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu
https://telegram.me/techofworld
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu
https://www.youtube.com/c/TechofWorld
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu
https://www.youtube.com/c/TechofWorld
https://play.google.com/store/apps/details?id=com.tech.edu
https://telegram.me/techofworld

Download Tech Of World App

WtsApp/Call- 8596976190

Join Us-

Set Id : 53655_86

09-June-2019 Batchl D.ELEd Odia

Section 1 - Paperl-English Language
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1) Find the most appropriate opposite meaning word:
FRAUDULENT

A) Candid
B) Forthright
C) Genuine
D) Direct

2) Select the correct option.
Bill enjoys reading lot.

A) a

B) the

C) no article
D) an

Read the passage and answer the questions that follow:

The Eiffel Tower is a wrought-iron lattice tower on the
Champ de Mars in Paris, France. It is named after the
engineer Gustave Eiffel, whose company designed and
built the tower.Constructed from 1887-1889 as the
entrance to the 1889 World's Fair, it was initially criticised
by some of France's leading artists and intellectuals for its
design, but it has become a global cultural icon of France
and one of the most recognisable structures in the world.
The Eiffel Tower is the most-visited paid monument in the
world; 6.91 million people ascended it in 2015.The tower
is 324 metres (1,063 ft) tall, about the same height as an
81-storey building, and the tallest structure in Paris. Its
base is square, measuring 125 metres (410 ft) on each
side. During its construction, the Eiffel Tower surpassed
the Washington Monument to become the tallest man-
made structure in the world, a title it held for 41 years until
the Chrysler Building in New York City was finished in
1930. Due to the addition of a broadcasting aerial at the
top of the tower in 1957, it is now taller than the Chrysler
Building by 5.2 metres (17 ft). Excluding transmitters, the
Eiffel Tower is the second tallest free-standing structure in
France after the Millau Viaduct. The tower has three levels
for visitors, with restaurants on the first and second levels.
The top level's upper platform is 276 m (906 ft) above the
ground - the highest observation deck accessible to the
public in the European Union. Tickets can be purchased
to ascend by stairs or lift to the first and second levels. The
climb from ground level to the first level is over 300 steps,
as is the climb from the first level to the second. Although
there is a staircase to the top level, it is usually accessible
only by lift.

3) In France, the Eiffel Tower, in height, is second to

A) Washington Monument
B) European Union

C) The Chrysler Building
D) Millau Viaduct

4) The Eiffel tower is named after who among the following
options?

A) The Engineer who built it
B) The 1889 world fair

C) The company which built it
D) France's leading artist

5) The Eiffel Tower is as tall as

A) 1,603 ft building

B) Millau Viaduct

C) an 81 storeyed building
D) 334 metres tall building

6) The climb from ground level to the second level of the
Eiffel Tower is

A) 276 m
B) 300 steps
C) 600 steps
D) 906 ft

7) Eiffel Tower was constructed as

A) an entrance to the 1889 World's Fair

B) a cultural icon of 1889

C) the fashion icon of France

D) an architectural marvel of 19th century France

8) Find the most appropriate opposite meaning word:
AWARE

A) Apprised

B) Inattentive
C) Cognizant
D) Receptive
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9) Select the correct form of verb from the given options.
heavily every winter in Shimla.

A) It had snowed
B) It snows

o ] @Chofworl

D) It snowed

10) What is the plural form of Military?

A) Military

B) Militarys
C) Military's
D) Militaries
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11) NCERT has established 5 Regional Colleges of
Education at which of the following cities in India?

A) Delhi, Bhopal, Bhubaneswar, Mysore and Hyderabad
B) Ajmer, Bhopal, Bhubaneswar, Mysore and Shillong
C) Ajmer, Bhopal, Delhi, Mysore and Calcutta

D) Ajmer, Delhi, Bhubaneswar, Mysore and Chandigarh

11) 432105 624 5 § FIGI6A LR Aedd AL gFal
*0218?

A) GR1, 6QIDIR, RIEAYA, ALY IS° ARFISIQ
B) 2166610, 6Q1CIR, 926249, (9196 8 drcdl
C) 2196019, 69IAIR, @R, ALIYR 98° 6RIRRIC!
D) 21960, G, 6899, ALK G S9ISG

12) Which of the following commissions recommended a
four year training course after senior secondary, or

preferably a 5 year course leading to graduation and
training for school teachers?

A) National Policy Statement on Education
B) National Commission on Teachers-|

C) Indian Association of Teacher Educators
D) Secondary Education Commission

12) GPUQ 696 SFIde JdRres dR a9 Alfe J81 J6a

oId eda GRa CI0YGe, 212Ql R 968 9@ 5 Qd @ AIoIgH
4S° QIR QUIGE @Q 6R?

A) QUIQRIN ORT 6ASENY AR IGERIR
B) quiacia afias 2e §ed-

C) adaa 26A139AR 2T Foa 1g6aed
D) gacaaial ugeaan afiaq

13) Who among the following is constitutionally

empowered to declare three types of emergencies in
India?

A) Prime Minister
B) Defence Minister
C) Attorney General
D) President

13) QIQL6R QDR 7 gRIRa 2RI 62188 KANIR
ARG 93 0887

A) quig aa1

B) aql a1

C) aglguaaei
D) auiga@

14) Meningitis is an inflammation of the protective
membranes covering the

A) brain and spinal cord
B) cesophagus and larynx
C) lungs and ribs

D) bronchioles and alveoli

14) 60FGIRT 6208 q QTS 9ogl FRIQ 9oL

A) 034 6 6agea

B) wsaizriog 6 aql
C) qaga 6 agal a1e
D) 691@6m 8 2REeR

15) Which of the following initiatives was proposed by the
Programme of Action (POA), 1992 in National Policy on
Education, 1986, to improve human and physical
resources available in primary schools?

A) Mid Day Meal

B) Operation Blackboard
C) Bal Mitra

D) Bal Sakha
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15) giglfia QQUIRLYEasa Qdne e 8 6Wloa ARINLRA
QI8 QIR MNARIR IRG 2 Igeade, 1986 6a 6QIgIE 2T
2199 1992 FI0I GEAQ 60Q AR 9UTE 62IRM?

A) C11IIE CRFS
B) 210609¢ Q@69

Techofw

D) Qi asii
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16) Five consecutive numbers whose arithmetic mean is
25 have been written. What is the cube of the middle
number?

A) 15625
B) 10648
C) 12167
D) 13824

16) <If RIF QU 29 QoG QIRIa IRgENTR A9 eIKIRE 25
| A8 IR GYK 6@ ?

A) 15625
B) 10648
C) 12167
D) 13824

17) In a certain code language, FOREST is coded as
6151851920. How will JUNGLE be coded as in the same
language?

A) 1021147125
B) 1021137125
C) 1021157125
D) 1021167125

17) 9@ G&a A6ebe @I9IEe, FOREST @ 650 6208
5151851920. @¢lie @Islica JUNGLE @ 966 @48 68@ ?

A) 1021147125
B) 1021137125
C) 1021157125
D) 1021167125

18) Instruction: Below mentioned are statements
followed by some conclusions. You have to take the
given statements to be true even if they seem to be at
variance from the commonly known facts. Read all the
conclusions and then decide which of the given
conclusions logically follows from the given statements
disregarding commonly known facts.

Statements:

Some diamonds are pearis.
Some pearls are gemstones.
No gemstone is ruby.

Conclusions:

[) No ruby is pearl.

[1) No gemstone is diamond.
[1l) Some pearls are diamonds.

A) Only Il follows

B) Only I and Il follow
C) Only | follows

D) Only 1and Il follow

18) F6LHIGRT: 06@ FAULIRS (184 T8q 78 FAT T2AAIRE |
298G GRSl fIeaIg a6y saIR AIFAIQ 9Ge 986 § 9al
QARINEIEH FENI2S FAY0IR GiR CQHIAIRAN | AL Fady 9eg
4Q° 0I06Q GIR Fag, TRIKIRYQl Gad FUQ 6REE! ARIAEER
FEIRISI SR 2RAIRT KGESI 13347 OF RIES AGITE @9F |
18U

@2 2101 67RF 60113 |
QF 2101 62@F 6ar16aIQ
67169 69N68IR 9F G6% |

Gad:
) 6wl6d §F 6915 g6
Il) 6x16d 6aF168IR 2101 g6 |

Ill) @8 615 62QE 219! |

A) 62e% Il 25906 @0F |

B) erem 1997 11l 29204 @03 |
C) 629q | 29904 @93 |

D) e@eq | 9e° Il 29904 @ag |

Techofworld.In
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19) Instruction: Below mentioned are statements followed
by some conclusions. You have to take the given
statements to be true even if they seem to be at variance
from the commonly known facts. Read all the conclusions
and then decide which of the given conclusions logically
follows from the given statements disregarding commonly
known facts.

Statements:

All lakes are oceans.

All rivers are oceans.

Conclusions:
1) All lakes are rivers.
Il) Some rivers are lakes.

A) Only | follows

B) Only Il follows

C) None of the conclusions follow
D) Both I and Il follow

19) GERVIART: G6@ GUAINYF S U8 78 Fad fAARE |
2odg GRS A19Q1g A3y €QlR AIFAIg 9FQ JG8 G 1l
ARINEIER FEITN GAMOIQ TR 6QIAIRAN | ANS Fadyg aeg
15° QIU6Q GEE Gug, TUARYSI T FIQ 69WT ARG
REIE)Q| SR 2N @R ARG OFR QISR AGARE K@ |
F13QY;

a9 22 9ee el |

Qg9 99196 LI |
fad:
) Q¢ 20 9@ Qa1 |

Il) @8 791 goe 2l

A) 6290 | 2908 K9G
B) eaer Il 2gacd @ag

C) emled @ fadg 2ga0e @ag ?F
D) a@@ | 99° 1 29904 %09

20) Instruction:

In the following questions mark:

1, if the question can be answered with the help of
statement | alone.

2, if the question can be answered with the help of
statement Il alone.

3, if the question can be answered with the help of both |
and Il

4, if the question can't be answered at all.
Among A, B and C, who is the shortest?

Statement | : A is taller than C.
Statement Il : C is shorter than B

A) 1
B) 3
Ej2
D) 4

20) 56641991 FIRYS g6
1 0g¢ @9g 98 609 18 | AIRIKIYER J4a a6 G2IRaIQ8
|

2 520 @9g, 99 6099 A189Y || ALUITEQ Y4 a8 FaAIR
QI8 |

3, 0% Q9@ | 9e° || AL6KISER g9Q Qe QAR QT |

4, 9% gEQ 299 6969 @ SRR AIRS FIF |

A, B \9g° C ¢1:I6Q 990 6815 @7 ?
A2QY | : A 699@ C 0IQ 2608190 9F |

A=Y |1 1 B 01 C 260192 6219 |

A) 1

>: Techofworld.l

D) 4
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21) In which of the following techniques, the teacher’s
primary role is to coach and facilitate student learning and
overall comprehension of material?

A) Student-Centered Approach to Leaming
B) Low Tech Approach to Leaming
C) High Tech Approach to Learning
D) Teacher-centered Approach to Leaming

21) FARYE FRIQ 699 Y6AIT FRINER 218 @ FYS 6 ARG §

2°gd 91961 93! @ gaEe 8 IRUIFAR FRIRQ AR FAGFR
glaifie @il 2667

A) gQ QIR 819 6959 Q61
B) dgI 010 6R166R QE6RIE

C) 4@l QI9l 21R66R Qa6RI8

D) dgel aiel S8R 6256 Qd6ald

22) Which school of philosophy believes that only
materialistic world is true and there is no true spirit.

A) Idealism

B) Neo Realism
C) Pragmatism
D) Realism

22) 6299 Q9ZQIa1 @RI Q84 99° 6Q14A QG QISR FIZ 691N
600 849y 1A R6Q ?

A) IRl
B) aay @igeqla
C) gegeiq
D) qigaqi@

23) Which of the following options is considered as a
strategy for the situation of resistance in the teaching
learning process?

Situation - Fear of losing control of the class.

A) Seek an explanation for the fear from the teacher in
presence of entire class

B) Let the teacher not take the class until the fear
subsides

C) Give unpaid leave to the teacher to overcome the fear

D) Explain how using cooperative groups can help
teacher manage the class

23) @6 Q@8 AUQ 6@e6 JTRG! dYQl JFARAER 9
QEARIIGIA PREIR 6RlER GIFER TEoql KAKN? CRET -
69410 FARE VAR 8D |

A) a4l 6910 @ORB6R I8Rg V9 28RS AGIdel
B) saadie a0 @ 6210918 dAag CIaQiq G2 @ B9l
C) e0q 90 A0Ql 0N d8ag 265600 g6 QeI

D) 6g8lig ARI@QI6R 9rIRlg OF FO6 dAeg ALY @6 Q2!
Qo QEQl

24) The three Schemes of Sarva Shiksha Abhiyan (SSA),
Rashtriya Madhyamik Shiksha Abhiyan and Teacher

Education has been merged into which of the following
options?

A) Samagra Shiksha Abhiyan
B) Saamaanya Shiksha Abhiyan
C) Sarva Shiksha Abhiyan

D) Saman Siksha Abhiyan

24) 9G8R 2RAIF (4LIQY (SSA)), QGG QRIFR S8 ARAR
48° 4RQ d8Ia F6QIT 6AIRRI R6QIS AUQ 60a 3eF6a Sam
62988 |

A) ang a9l ZeQIe
B) aiciey S aiiaie
C) ae a1 28ale

D) acig d@1 28le

echofworld.In
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25) Which of the following options was the aim of
Saakshar Bharat Mission formulated in 20097

A) To achieve 55% literacy at national level, by focusing
on adult women literacy

B) To achieve 80% literacy at national level, by focusing
on adult women literacy

C) To bring down the female illiteracy rate by 75% in the
country

D) To eradicate female illiteracy from rural areas of the
country

25) FORYS AR 6296 2009 60 ATA 621RQ RIGS AR @
QEREN gmI?

A) glg 206a 55% AFaS! Jig K99l IR, A% ORI
e AFAG! AUER e 650 @

B) qiaia 2a 66 80% QWA § 99 969 JIR, Q9% AZR
AIRSQ AVAS RAES IR 6250 @8

C) 624 62 A8 AT FATAS! @ 9Q § 75% adye 21&Q
aR

D) 646 60 €11 688 66 F1ERI AIGEA FBAGI Q R @ AAIG
@fel aiQ

26) Which of the following is NOT a specific learning
difficulty?

A) Dyscalculia
B) Dyspraxia
C) Dyslexia
D) Dysphagia

26) AORYS CUQ 6998 Y@ GGe Ja¢ Ay Q6L ?

A) Gaeingaal
B) Gagga

C) @aergal
D) Gasa@zi

AW EE B'EWINLWY B W U VMY e a s aruewail e eismaiw s wave

27) As a teacher | would like to test the Cognitive
development of a child. Which of the following is NOT to
be tested under cognitive development?

A) Problem solving skills
B) Memory skills

C) Learning skills

D) Motor skills

27) 964 d8Q @I6e ¢] 60IT dge BIe ARG SRIeQ QA
QRQIR 9IS | WIS ARG FRIG 2IFEA FIAKIQ 67UTR ARSI
QAU QIF?

A) QAQUIR AARIG KRS FBS
B) q6a ag<l @@l

C) daiged oae!

D) saiea @ae!

28) Which of the following activities must be done in the
first week of the school to obtain effective classroom
management throughout the year?

A) Teach lessons from the first day and focus on timely
completion of the syllabus

B) Greet the students when they come to the school
C) Infroduce yourself to the students

D) Have the alternative activities ready to be to meet the
needs of all types of students

28) Q¥ QIGI gRISYIM 69419R DACIRAI ARG AIR AAAUR
600 FARRID SQURE ARA 629IQ glf QYRR QAT
2199487

A) gae §9g Q10 991 2If @81 8 AI0YeYE O ACAER 698
Q091 QR IS 6156 @QQ

B) dauipaq a1dem Seyidinios 2E9Iee K5
C) Qqudinieg fs daaca «2al

D) a1g geiaq faUinIes 2IRdiasl 9od @69l die 65ada
GURRIIgEe 996 age!
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29) Read the following statements and choose the
CORRECT option.

() The National Policy on Education (NPE) was adopted
by the Parliament of India in May 1978.

(i) A committee was set up under the chairmanship of
Ishwarbhai Patel in May 1990 to review NPEand to make
recommendations for its modifications.

A) (i) is TRUE and (ii) is FALSE

B) (i) is FALSE and (i) is TRUE

C) (i) is FALSE and (ii) is FALSE
D) (i) is TRUE and (ii) is TRUE

29) Q67118 QINGE] 99 Ie° O] G99 QI8g

(i) 1978 6¢1 QIYER VIRV A°AL6Q FY ARG VA 710
(NQAQ) 928 FAUIRER

(ii) 1990 691" 60 YR AR VESRT AUVSI6R (VRTR)Q AN
G° IO6Q JGQRR QIR AGEAIR FO63 9Q @FF

A) (i)0R 9" (ii) is g
B) ()@ qa- (i) O)

C) (iygm 9Q° (ii)gm Te C h OfWO rl d .

D) (i)5] ae" (ii) OR

30) The prenatal factors that affect the growth and
devleopment of a child are the ones that

A) influence him after birth
B) do not affect him

C) influence him during birth
D) influence him before birth

30) 999e 6919969 Q19 AR @RS 8 AA9R] 9AIRe @6Q
Q12 FAQ geIe @GN ?

A) @Q 96Q gRIRS 26Q
B) 21641 goIde @6 QI1F
C) @g 2a96Q gaIfe @6a
D) ¢g 9@ 90IGe @61
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31) §eINQ 0Q B9 dw @'l 693 ?

36) 694 94 gEea ARIRE6a 001 @fic 9962959 69

QR GRE ?
A) gaig
B) Gqai A) e
C) daq B) acais
D) daie C) aaigis
D) 21ggié
32) GIRGE I 6996 'FRI'A 2] QXN QIF ?
37) FORYE AUQ 6967 'IdY 490 AdYARIST SR ?
A) asia
B) age A) 631
C) EIQ@ B) Elﬁllﬂl
D) agw C) o
D) gais
33) GIAYS FRIG 6296 ' AT ' @ ARG IR 26T ?
38) GORYE UQ 69LE 99 §F 69 ?
A) GealIa
B) ziqidelie A) zg@
C) eaieq B) u@ig1
D) Seai@ie C) uaén
D) aal
34) FORYS 699 99 ‘A’ QUAG 8IS S0C ?
39) ‘6e Qdar — 421 @ gaIa @@ ?
A) ageq
B) ag® A) spicqI@
C) asgie B) Galete
D) ags C) Gau
D) qaige
35) GORge 6684 Q@ FRI 6QAE ZRGI IR 9 596 Q6 |
40) ‘691® 98 MIFAl — 98 @ gRIQ 99 ?
A) gt
B) qela A) geeIne
C) @0 B) Gaieie
D) ay@ C) qaigs
D) smicai@
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41) FIRYE OUQ 696 ‘YR FAQIS ?

005 Techofworld

42) 68 | FRYe AU A0K T6ATE FIR J
219 J9d @ |

A) agel
B) qide
C) a0l
D) a@e

43) FIRYS Y 629 QAT 9E] FONIRIZERIF QA6
QRIAN ?

A) 499
B) g&.0@
C) g, aau
D) @2

44) 690 T6ITY JER LAY Q6% 6QgP] & FeaTy QRIAN
?

A) agagiay

B) aogiqia

C) g qre

D) aeqigiay

45) ARYE AUQ 692 AAAAT A RNIGEA IR AR 1
QP 62IRAN ?

A) 25
B) a@
C) ad
D) g&
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46) Calculate the circum radius of a triangle whose sides

48) 95 a + 2b=56 2a + 3b = 8, 3a+ 5b Q FnY 62RF
are 7cm, 24cm and 25 cms respectively.
A) 10.5 cm A) 10
B) 11.5cm B) 12
D)12.5cm
} D) 11

46) @ GF @ A FNVIA G991 Kag, 6JLEA I IFR

i - o 49) What is the height of an equilateral triangle whose side
QEI€I8 76461, 246461 B 25 6Q¢1 216G is 76 cms?
A) 10.5 66 A) 75.612 cm
o) e C) 82.712cm
e o D) 72.815cm
D) 12,5 6

49) 9@ 49QIg BPF Q APY 6R6E 256, JILIQ Q1g 76 69
47) If a box has a height of 4 cm, a length of 12 cm, and a

2I6e"?
volume of 240 cm?, then the width of the box is
A ~
A) 5cm ) 75.612 6
B) 3cm B) 65.817 64f
C)4cm C) 82.712 64
D)2 cm

D) 72.815 s4¢l
47) 9% 69159 99 9 @90l 4 69F, W6 12 696, 8 e 240

3 50) The number 756 can be expressed as
64Yl 26T, 6U6R 97 ol QU aes |
A)2x33x7

A) 5 6a@ B) 22x32x7

- C)22x3*¥x7
B) 3 6af D)3'x 7
C) 4 6@
D) 2 eadl

50) 756 QY @6l ACA YRS 621G

48) If a + 2b= 5 and 2a + 3b = 8, then the value of 3a+ 5b
is

A)2x3x7
B) 22x32x 7
A) 10
B) 12 C)22x3%¥x7
C)13 D)34x 7
D) 11
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51) If 10x + 27 — 5x — 46 = 32 + 3x — 19, then the value of
'X' equals to

A) 14
B) 15
C) 16
D) 17

51) @@ 10x + 27 - 5x - 46 = 32 + 3x - 19, 6069 'x' Q ¢
Qe

A) 14
B) 15
C) 16
D) 17

V45 — /63
52) The value of V80 — V112 i

m12
4
7
B) 13
4
C)3
D)2
4
V45 —/63

52) V80 — V112 g gy coed

Z
[

L
Ol =W

o
e | W W= =

=

53) In a certain time interval, when 15% is lost in extracting
good quality of cashew nut, India can export 30 lakh tons
of good quality cashew nut. On the other hand, if 10% is
lost in extracting, it can export 40 lakh tons of good quality
cashew nut. The raw production of cashew nut for

exporting good quality by the country within that time
interval is

A) 70 lakh tons

B) 200 lakh tons
C) 300 lakh tons
D) 100 lakh tons

53) 99 G A7 QUINER, BN FIFQ FIF QI AILIQ KA
696 15% @8 §Y, 6U6LEIER QIO AFAIRa 30AT 6 QIg
QI YIM QRAICA! LT T AR Aea 10% /F
296069 121 40R9 6 AR |Ig QIQIF QIR 992, 637
O QIQRIIFER 6RFER QTS 62192/ ATIGT 6LITY ABAIRQ
Qg QAR AAANE 62

A) 70 AR oq

B) 200 q@ 6]
C) 300 am 6]
D) 100 as 6]

54) A shopkeeper sells one wrist watch for Rs. 840 at a
gain of 20% and another for Rs. 960 at a loss of 4%. His
total gain or loss percent is

A) 5.50%
&
209,
E

17 %

B) 6

C)5
D) 6.50%
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54) G668 6Q1RIG1 Rs. 840 QIFEQ 20 9898 RIREQ 69IT
VPP @7 KT 99° AGT Rs. 960 QIF16Q 4 YGEI6 AG6R Iqe!
Q02| QI Q AFIE MR Ge)l AGR O8I0 cead

55) Income of Arun is Rs. 14,500 per month and that of
Bharath is Rs. 1,92,000 per annum. If monthly
expenditure of each of them is Rs.9,000 per month, then
the ratio of their savings is

w >

)7:9
)5:7
C) 11
D)13 14

55) 2Rae AR 218 Rs. 14,500 ¥9° 996 Q189 2I2 Rs.
1,92,0001 99 6Q7I9& AId@ & Rs.9,000 6REN 99, 606
ERAAIGEA AFAQ 294Ie 6208

A) 7
B) 5
C)11:14
D) 13:14

56) Two squares whose sides are in the ratio 5 : 2 have
sum of its perimeters 84 cm. The sum of the areas (in
sg.cm) of these two squares is

A) 261
B) 588
C) 144
D) 281

Techofworld.In

56) Q@0 QC6SG. QITR AFIFRR QAR 52 YQ° ILQ

aeael @ sasiere 84 6afl.| 4@ 9@ GU699R 6AGTR (A6
62908 6268 (6a.fl.

A) 261
B) 588
C) 144
D) 281

57)IfA={3,2,14}and B = {1,2,3} then A © B is equal to
A) {3,9,14}
B) {1.2,3}

C){1.14}
D) {1.2,39,14}

57)9@ A={3,214} 8B ={1,23} 6069 A © B a¢Ig

A) {3914}

B) (12,3}

C) (1,14}

D) {1,2,3,9,14}

58) The least number which when divided by 4, 5, 6 and

7,leaves a remainder 3, but when divided by 11 leaves no
remainder. What is that least number?

A) 2013
B) 1683
C) 843
D) 423

58) AGGE] QS QIFl 4,5,6 49° 7 F1Q U6l @AUGER QUGEHS 3

62, 79 6U60696R 11 FIQl QY KA 6666967 66T
QUSICHT Q6T AIF1 AGHE AT K'§?

A) 2013
B) 1683
C) 843
D) 423
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59) If Set A has 3 elements and set B has 2 elements,
what can be the maximum number of elements in their
union set?

A) 5
B)

os  [echofworld.Ir

D) 4

w

59) 93 646 A 6 3 T QAIQIF 8 646 B 6 2 G QIR 218,
6T 6T 6ATER ATRIR 6R6FIT AR AFAIRR?

A) 5
B) 3
C)2
D) 4

60) 1 kg of fine wheat powder costs Rs. 100 and 1 kg of
com powder costs Rs. 120. If a mixture of wheat powder
and corn powder is sold at Rs. 105 per kg, then what
fraction of the total mixture is corn powder?

A) 112
B) 1/2
C) 1/3
D) 1/4

60) 1 607 AN 997 g8 QIF1 Rs. 100 ¥8° 1 6@% Fel g8
QI Rs. 120 |1 9@ 929 g4 9e° ARIgEa 9= igd 6aG T8l Rs.
1056 8@ QQIKIN, 6669 AQIA FgE6Q AR JEQ QG 6R667

A) 1/12

2. | @chofworld.In

C) 1/3
D) 1/4
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61) Who among the following appoints the Chief Election

63) Q6AIB AUQ 6REE YR AYOURQ TRIFARG AUAR?
Commissioner in India?
A) Governor A) Qig Smiq
B) Vice-President B) @ qaie
C) Chief Minister C) uig Smie
D) President _
D) squcdmig

61) F6AlIS AIAT FRIQ &4 QEN BIES BXRIRIE FY8 KaE?

64) Which of the following oceans is called a 'peaceful

A) sea'?

QYA

B) ag-aaad A) Arctic Ocean

C) qeiyaiat B) Indian Ocean
R C) Pacific Ocean

D) aiaa@

D) Atlantic Ocean

62) In India, how many seats are reserved for women in a

64) 36018 AUIQ 689 A2IAGAG 'AIBAA AGR’ GRIAI?
municipality?
) o XA
A) One-fourth ) 2I86Q ALIATR
B) One-third B) QIow Agicia
C) Half C) gae A2IAIea
D) One-fifth

D) 2160188 ALIAI9Q

62) QORUIARIER ATRIFINE JIE 6R60R IR 2AR LT

aa0 65) The country from which the “Preamble” of the Indian
QR Constitution was borrowed is
A) @-egera A) United States of America
B) 4a-go1gid B) United Kingdom
C)#ied C) ltaly
EiseR D) Germany
D) va-asers
65) 69@ 6999 NASIE AL ‘92I9R” QG KR
63) Which of the following options refer to the scientific

study of Earth's atmosphere?

A) ge9IY 216718
A) Aerology

B) geqisy
B) Geology C) aeid
C) Metallurgy D) eeligt
D) Astronomy

TAAIAA':II!AIFIAI

Ilﬂ
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66) What is the name given to the 'front', in which the
warm air mass moves towards the cold air mass?

A) Stationary front
B) Cold front

C) Warm front

D) Occluded front

B6) @8 AGATL 6¢% AIRER 17 AYANL 2Ieq 98 @6Q
6QE ZB0q @8 qRIFIRRIN ?

A) G zEe
B) q1oa ase
C) a8 28q
D) aiqge aEe

67) Kheda movement took place in which of the following
years?

A) 1910
B) 1920
C) 1912
D) 1918

67) G6qIe QBAIRE UQ 6R%Y6R 6¥Q EAIRE QI
6LIRRI?

A) 1910
B) 1920
C) 1912
D) 1918

68) In Vedic period, Horse sacrifice ritual was important

for establishing the authority of a king. This ritual was
known as

A) Rajasuya

B) Ashwamedha
C) Vajapeya Yajna
D) Vishwayagna

Join Us-

68) 966 QAIFITA RER YFVIER AR F16R10R Jead gaIl
9@ Q16 QUIER SNG4

A) QIege.

B) aigeew

C) qigeaa o
D) Ggaos

69) What is the distance between two longitudes at the
poles?

A) 0 km

B) 111.7 km
C) 110.3 km
D) 111.3 km

69) 6719 G2C6a 9af FITAIRQ Qe 6260 saIReNd ?

A)o@d

B) 111.7&.8
C) 110.38 &
D) 111.3 &7

70) Which among the following options is NOT one of the
methods of preventing soil erosion?

A) Laser levelling

B) Contour ploughing
C) Terrace faming
D) Strip cropping

70) GORYS QRegeR MR e F@ed qfel Q9
goeaRIa 99 RIRE GE ?

A) 6R%Q AAIZRRE
B) cerigsesia o
C) saaiq oIs

D) o@ c1s

= ] o
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71) Which of the following is a tradition, in which followers
only worship the feminine goddess?

A) Brahmanism
B) Shaivism
C) Vaishnavism
D) Shaktism

71) F60I8 AUQ 679 CRARIKA AGANTAIEE 69w 6Qatg @
e @a?

A) QI2dQIQ
B) sdqqi@
C) 63aQaie
D) s@qie

72) On which date, were the freedom fighters Bhagat
Singh, Sukhdev Thapar and Shivaram Rajguru hanged?

A) 23rd March 1931
B) 21st March 1931
C) 29th March 1931
D) 24th March 1931

72) 62@ 0IR%6Q 900 Je, YEEaQ 21T 1e° Jealf ARYQ
e ARYEM?

A) 9N QIF e Cqe
B) 9¢ qig ecme
C) 9¢ qig ecme
D) 9y qug ecme

73) Which among the following countries has the longest
written Constitution in the world?

A) India

B) Switzerland
C) Australia
D) France

73) R6A1IS (1R 6RE 620Q ARG §4a 9280 AYe AAIR?

A) qiee

B) qeeaniig
C) zsgmal
D) g1

74) In which year was the Indian Wildlife Protection Act
implemented?

A) 1976
B) 1972
C) 1982
D) 1986

74) 69 132168 VING1EA QEUISN AR NIG 6ARR ?

A) 1976
B) 1972
C) 1982
D) 1986

75) What is the distance between two longitudes on the
equator?

A) 110.3 km
B) 113.3 km
C) 111.3 km
D) 0 km

75) Qg9 668 QUEQ QR QIINIQ 9OI0I X6 621D ?
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76) PbO(s) + CO(g) —> Pb(s) + CO2(g).
With reference to the above reaction, which of the
following is getting oxidised?

A) Pb
B) CO:
C) PbO
D) CO

76) PbO(s) + CO(g) —> Pb(s) + CO.(g). @9 956<I Qeeke,

FAIQ 696 2FPIRS 97

A) Pb
B) CO;
C) PbO
D) co

77) A capillary tube is kept vertical with the lower end in
water. The height of water raised in the capillary is 2 cm.
If the length of the capillary tube is made 1 c¢cm, then the
angle made by the water surface in the capillary with the

wall is
A) 30°
B) 60°
Cc)o°

D) 90°

77) 99 FU6Q I 6F4Q AR1Q OF WI0g Jal adioRl| 6aEe
2R16Q A0S 90 @96 2 6971 AT 6F9e AR1a 634 1 6ad

QUL 606Q 6EIR AF16a g9 FRJY QIR ATe 98 @Rl
6QI18 6208

A) 30°
B) 60°
C)o°

D) 90°

78) When plants are adapted to grow on other plant and

obtain moisture from air and make food by photosynthesis
are usually known as

A) Halophytes
B) Epiphytes
C) Hydrophytes
D) Xerophytes

78) 6606Q6R QERYER AR GEC ATER CESI AR AGFR
6RIRAIRIS 6 QPR 2GS Y26 KG RIS IECHIS FRIFER
S 9GO @R, 6AGE] ANINISE @8l QRIAN?

A) Q6RITING
B) «wdecrias
C) eIpexITiae
D) excquiog

79) If more air is pushed in a soap bubble, the pressure in
it

A) increases
B) decreases
C) remains same
D) becomes zero

79) 94 99 AQR 6TIGRIEA R UG gal AN, 9LIR SIC @6l
699 ?

A) o@e

B) @fe

C) aqie age
D) ga4 saipde

Techofworld.In
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80) An engine pumps up 150 kg of water through a height
of 12 m in 6 seconds. If the efficiency of the engine is 40%,
the power of the engine is (Given, g = 10 m/(s"2))

A) 14 KW
B) 2.1 kW
C) 0 kW

D) 9.0 kW

80) 4@ @B 150 60F AISi] 6 6AEae6a 12f6Q QERIQ
6002INI 98 QBRA QUG 40% 6062 ABGA OF 6268 (99, g
=10 m/(s"2))

A) 14 kw
B) 2.1 kw
C) 0 kW

D) 9.0 kW

81) Calcium oxide reacts with water to form

A) Baking soda

B) Bleaching powder
C) Quick lime

D) Slaked lime

81) RUINTNT ARG G5 ATC oG 96l @8 Q8 edara?

A) 6aGer 621G
B) 36& aleea
C) @3 Qa9

D) 69qe aueg!

82) Which of the following options is NOT a type of
chromosome based on the centromere position?

A) Acrocentric

B) Submetacentric
C) Metacentric

D) Anacentric

Techofworld.In

82) Gorug 696 GR86 6Q6eFiae 35 ZIIGsa 1@ gRIaa
6QI6F1IERIE Q6E?

A) elegieade
B) aesneicada
C) 69101694a
D) aiqicade

83) Who discovered the microorganism called "Bacillus
anthracis” that causes anthrax disease?

A) Louis Pasteur

B) Robert Koch

C) Robert Hooke

D) Anton van Leeuwenhoek

83) &4 "9Idnd 2151dQ” RN IR IFF1NQ 2IFTIQ *R2em O
2181g 6916 @Q2IN?

A) Qad 2IgQ

B) eq1a¢ 6al0

C) eqiec ga

D) 219e QI feEreale

84) Two bodies of masses 4 kg and 5 kg are moving with

equal momentum. Then the ratio of their respective kinetic
energies is

A) 001:003
B) 002:001
C) 004:005
D) 005:004

84) 469G 1e° 5 6@& 9ge MR 9a6 QQId AAIF 6ATER GIF
@081 6T C6F 42 QA6 62ad

A) 001:003
B) 002:001
C) 004:005
D) 005:004
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85) Which among the following options is a biological

process that produces a gas principally composed of
useful methane gas as a by-product?

A) Anaerobic Digestion
B) Aerobic Digestion
C) Biosorption

D) Bioaccumulation

85) BRI 69 GRed Y@ 6Fae gFCl ARl e qua 9§

Qe 65{]‘558!6@ (eliee QQELIGN 2R QU QIR-JR] QILEA
an?

A) 2QIGS1A 200G
B) qieeia 2oaee
C) 65e 21964188l

D) 65 asae

86) The presence of specific features and habits which

enable an animal or a plant to live in a particular habitat is
known as

A) Adaptation
B) Aviation
C) Evolution
D) Aeration

86) G68E €GEYY B AVUIAR RUTE KT IR YK Q1 1EGY 9@
FaY 2ISIYER AF9Iq AT FAUNAN VTG VS FLIAIN?

A) agQee
B) Gclea
C) ga-Qqi4
D) qieg

87) Which of the following statements is TRUE for Gram-
negative bacteria?

A) The wall is single layered and outer membrane is
absent

B) The wall is smooth or straight and this bacteria is
more susceptible to antibiotics

C) Mesosomes are more prominent in this group of
bacteria

D) The bacteria do not retain the stain color when
washed with alcohol or acetone

87) 9IF-626616% QueqREl QIR 59 AEgEe AU 6268 0a?

A) Q910 6208 U0 99 Q98 8 Q1Y TR agude 28

B) gioia Aga a1 Qi 6 98 QuieqRel 218Qi6Ice 9o o
2P GRS

C) 98 QuIeq@izll 691916a 6F16AIRFIER6R 2i)e A%

D) zineen Q1 ¥360Ia FI9I 2R QUERRZI T8 Qe AR
Q6SIRIE

88) A force F is required to break a wire of length | and
radius r. What force is required to break a wire, of the

same material, having twice the length and six times the
radius ?

A) 36 F
B) 6 F
C) F/6
D) F/36

88) | 63l 9e° r IAF 354G ¥R GIAg VTR IR F 9P AR
62I92IN| 6068 QIR ANFIR YRGS 63 1Q° 8AFS AT
398 9I0q NIFS AR 6968 OF 2FUR?

A) 36 F
B)6F
C)F/6
D) F/36

89) The vaccine for smallpox was discovered by which of
the following scientists?

A) Louis Pasteur
B) Edward Jenner
C) Robert Hooke
D) Robert Koch
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89) 9d2 6916 T1R| FAFRIQ 67 6TVAR TR FALJEN?

A) Qe IR
B) eQie 69aa

C) 60196 9% TeChOfWO'

D) sqiee 6919

90) The momentum of a body is increased by 25%. The
kinetic energy is increased by about

A) 56%
B) 25%
C) 5%

D) 38%

90) \¥@ 9QIZQ 626 25% & FATRNI ILIR TGS FI6Q 9F QI

A) 56%

2% Techofworld.In

D) 38%
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